Construction division. Advice for giving credit to contractors/suppliers.

	o. – site bills	1 70	20		Date	- site l	bills	1	. /
regis		126	ν		Regis	ter		12/0:	7/2012
	pany Name:	MI	2		Site:			MF	7/2012 P
	e of Contractor	Md.1	Vadeo	m				,	
Natu	re of work	Plum			e				
Worl	k done	From Da	ite /	20/	06/20	122	To Date	05/0	7/2022
Sl. No.	Villa/Flat/block no	O. Qty.	,	Rate		Units	Amo		Contractors bill no
	SS Sink position	00							
2.	Bar Cunter	2	·OD	200	0.00	Nis	4,0	00-00	
(3)	Shiffing of wash	2		,					
4.	Barna B-10		OD	1,500	00	Nos	1,50	O.OD	
(3)	Lashing Machin	e							
6.	BB 403.		00	2,50	0-00	Nois	2,50	00.00	
(4)	Lall hange Et								
8. 9.	@ (-602	1.0)D	1,000	00.00	Nú	1,0	00.0D	
								/	
10.	T	S-4-1						1	
		otal:	1/10		COT	1 '11		0-00/-	
	required	∠YES				bill red		⊔ YES	
	surement & nate sheet:	Requi			1	surements		□ Enclo	
	VO no.	□ Not re	equirea			VO dat		□ Not e	enclosed
					10,,				
Rem	arks:	-							
Appı	roved by Project Ma	anager	Appr	oved b	y Des	ign Tea	am A	pproved b	y M.D.
Date	12/7/2	ow	Date	:			D	ate:	
Sign	: NAV		Sign	:	-		Si	gn:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Consumables

Mohammed Nadeem H,No 11-1-624/7/A,Mylargadds, Chilkalguda, Secunderabad.

Date:13-07-2022

In favor of: Project / Site:

MPL MFP

Location:

82/1. Mallapur

Type of Work: Towards:

Plumbing works Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards SS Sink changes, wash basin, washing machine and wall hange EWC points in flats purpose. Total amount = Rs. 9,000.00/- Work done from date 20-06-2022 to 05-07-2022	Rs. 1,800.00/-

Amount in Words: One Thousand Eight Hundred Rupees Only.

Bill for Labour charges

Mohammed Nadeem H,No 11-1-624/7/A, Mylargadds, Chilkalguda, Secunderabad

Date:12-07-2022

In favor of: MPL Project / Site: MFP

Location: 82/1. Mallapur
Type of Work: Plumbing works..
Towards: Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards SS Sink changes, wash basin, washing machine and wall hange	Rs. 3,600.00/-
	EWC points in flats purpose.	
	Total amount = Rs. $9,000.00/$ -	
	Work done from date 20-06-2022 to 05-07-2022	

Amount in Words: Three Thousand Six Hundred Rupees Only.

Sign:	
0	

Bill for Equipment Allowance

Mohammed Nadeem H,No 11-1-624/7/A, Mylargadds, Chilkalguda, Secunderabad

Date:12-07-2022

In favor of:

MPL

Project / Site:

MFP

Location: Type of Work: 82/1. Mallapur

Towards:

Plumbing works.. Equipment Allowance

0.37	Description	Amount
S No.		1
1.	Brief description of work done: Towards SS Sink	D 2 (00 00/
	changes, wash basin, washing machine and wall hange	Rs. 3,600.00/-
	EWC points in flats purpose.	
	Total amount = Rs. $9,000.00$ /-	
	Work done from date 20-06-2022 to 05-07-2022	10000

Amount in Words: Three Thousand Six Hundred Rupees Only.

					Only	Amount in words :- Nine Thousand Rupees Only
9,000.00		nount	Total Amount			
	1,000.00	1,000.00	No's	1.00	C-602	
						4 Wall hange EWC point shifting
	2,500.00	2,500.00	No's	1.00	B-703	
					machine	3 Water supply and drainage line for washing machine
	1,500.00	1,500.00	No's	1.00	B-703	
						2 Shifing Wash Basin
	4,000.00	2,000.00	No's	2.00	TOT LOT & B-502	
						1 SS Sink position for Bar counter
Grand 1 otal	Amount	Rate	Units	Quantity	Item Description	S.No. Item Head
					12.07.2022	Date:
					Md.Nadeem	Contractor Name:
					Plumbing work	Work Description:
					May Flower Platinum	Project:
		R.Ashok		Prepared by:	MPL	Company Name:
						ESTIMATE SHEET

1.00	1.00 No's	1.00	1.00	1.00	1.00	1.00	C-602		
								4 Wall hange EWC point shifting	Γ
1.00	No's	1.00	1.00	1.00	1.00	1.00	B-703		Γ
							g machine	3 Water supply and drainage line for washing machine	Γ
1.00	No's	1.00	1.00	1.00	1.00	1.00	B-703		Γ
								2 Shifing Wash Basin	Γ
2.00	No's	2.00	2.00	1.00	1.00	1.00	TOT LOT & B-502		Γ
								1 SS Sink position for Bar counter	Τ
									Γ
Total Head	Units	Quantity	Nos	Height	Width	Length	Item Description	S.No Item Head	S
				С	В	Α			
							12.07.2022	Date:	Da
							Md.Nadeem	Contractor Name:	ဂ္ဂ
							Plumbing work	Work Description:	8
							May Flower Platinum	Project:	Pr
				R.Ashok		Prepared by:	MPL	Company Name:	ဂ္ဂ
								MEASUREMENT SHEET	Z
									1